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General lnstructions:

1. This question paper is divided into four Sections A, B, C and D

2. Section A comprises of 10 questions of 1 mark each.
Section B comprises of 5 questions of 2 marks each.
Section C comprises of 6 questions of 3 marks each and
Section D comprises of 3 questions of 4 marks each.

SEGTION.A

1. How many rationalnumbersare there between two rational numbers?
(A)1 (B)0 (C)unlimited
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(D) 100

(D) -2

(D) Allof these

(D)- 9y2z

(D)11

(D) ( -7)2

(D) 6

Marks
1

2. Which is greater number in the following:

3. The area of a rectangular field is 250 m'.lf the breadth of the field is 10 m,

find its length.

(A) 25 m (B) 50 m (C) 100 m (D) 125 m

4. A rectangular wire of length40 cm and breadth 20 cm is bent in the shape
of a square. The side of the square is

(A) 10 cm (B) 20 cm (C) 30 cm (D) 40 cm

5. The area of n ABC is

(A)l cm2

(B)2 cm2 1 cm

(C)4 cm2

(D)12cm2 D B 1cm C

6. An algebraic expression containingthree terms is called

(A) a monomial (B) a binomial (C)a trinomial

7. Coefficient of x in - 9xy2z is

(A) 9yz (B) - eyz (C)9y22

(c)-1

(c) ( -7)'u

(c)3

8. The value of 3x2 - 5x + 3 when x = 1is

(A)1 (B)0

9. ( -7)5 x ( -43 is equalto

(A)( -D8 (B) - ( 7)8

10. (10 + 20 + 301 is eq ual to

4

(A)7 (B)0 Q);

(A) 0 (B) 1
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SECTION.B : I

.Reduce 48 
tothestandardform.

-60

12. Which is greater number:
25
-or32

13. Find the value of the expression 2x2 -x- z,wlren x - - 1'

14. Find r. ir [3)' * [3)' = f3)"'.'-""" [s/ "(g/ 
[e./

15. The perimeter of a rectanglesheet is 100 cm. if thelengthis 35 cm,

find its breadth.

SEGTION.G

16. List three rational numbers beh*een - 2and - 1.

1 7. Represent the rational n u mber I tf'" n u mber I ine.
4

18.Classifo into monomials, binomials and trinomials.

$)ay -72 (ii)x+y-xy (iii)1OO (iv)ab-a-b (v)4p'q -4pq' (vi)a2 +b2

lg.Evaruat" ' 3a x-123l<36 
.

25 x63

20.Constru ct A ABC in which mlA= 60o, mlB = 30' and AB = 5.8 cm.

21 .lf the circumference of a circular sheet is 154 m, find its radius. Also find the

area of the sheet 
[r"*" " =?)

SECTION-D

22.F romthe su m of 4 +3x and 5 - 4x + 2x2,su btract the sum of 3x2 - 5x

and- xz +2x+5.

23. A garden is 90 m long and 75 m broad. A path 5 m wide is to be builtoutside and

around it. Findthe area of the path. Also find the area of the garden in hectare.

24.Fllin the boxes with the correct symbolout of ), (, ?hd =.

(i) -:Z-i (ii) + E; (iii) *nt' (iv) in*
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Note: Send clear and readable answer papers in pdf format as one attachment to email id of respective

subjectteacher. VllA :revankumar.desaillssbj@gmail.com
Vll B & C : jyotigouli202l@gmail.com


